10.

11.

2004 - 2005 TMSCA Middle School Calculator #16

8,150+6443 ------mmnmemm-

‘State Championship

2374+4354-4816 2=
72,120—-4,380+3,921 3=
4059268 +601 4=
6,175/846+4,552 5
913/0.000242-7,850 6=
453 +3.15-425+227 ---T=
1,815+1372-2412+353.1+607 8=
824xmx2.02 O=
3,704 x 534 x 287 x 0.00388 10=
What is the range of the following numbers; 99.6, 884, 33.2,
44.8,89.7,89.7,and 89.7? 11=
12. What is the product of the square root of nineteen
and the cube of eight?---- - 12=
13. The circumference of a circle is 3.14 feet. How long
is that in inches? 13=




14. 3,112 -
’ Usdd3

TMSCA 04-05 MSCA#16

3,220

+ 32,100

15

[0.00574 + 0.00475}
. 4 --
r —2.15

(5817 — 258)/ 4.59

16. -
(7,350 / 5,370) + 35.6

- (57 / 0.0224)

(0.155/0.127)

18.

[(388/0.0151) — (728/ 0.475)
(6.14 — 812 — 417)

[(x/0.00815)]

19. [425 + 235 - 527]

| 746/ 0.0194 |

20.

[(21.8 - 33.3)“0.311}
| (24.9 - 45.8) ] 0.411

21.

[~ (12,500 - 15,200)27 — 12.1)
(34.9 - 17.5)45.7)

- (577 - 41.8)/0.328

(815 / 520)

5 (138/1.62)(125 - 574)n)

(35.2/24.1)

24. What part of a day is 7 hours, 32 minutes and 45

seconds? —----mmmmmemmmmmmemmeee

25. Convert 7= radians to degrees.

26. If f(x) = 2x + 7 and g(x) = 2x> + 4x — 1, what is

f(g(5))?

14

18
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27.0.00123[(5.37 / 4.25)(2,440 / 431)] 27=
28.1,240[(0.00115/ 461)165 + 254)] 28=
29. [(1,800)25.2)lr / 131 - -29=
30. 0.00134 + 1.15(8.50%107) = 0. 00203 =memermecemmmemmmcemeceememmemeemeee 30=
91 (600 - 700)(4.21:1 -5.29 31—

1.85x10
32. [2.66x10° + 4.75x10°[196,000 - 178,000] 32=
17 1
/9.50 AB.6 ) »
33. &2 + - 33
%07 Y omc
73.07  J/la.02x10%)
1 -
34, [—-—————} - 3.04x107° : -34=
2.21x10°
35. It took Jim 2 hours to wax a car that was 10 feet
long. Estimate the time that it would take Jim to
wax a car that was 20 feet long with a similar
shape. 35= hours
36. Back in 1989 the speed limit on the interstate was
55 mph. Today in Texas the speed limit from Junction
to San Antonio is 75 mph in some places. What is the
percent increase in MPh? —m--emmemmm s 36= %
37. CONGRUENT TANGENT 38 POLYGON WITH
12
Circumference of one
circle = 67 6 6
YN | |
6 6
6 6
Length of AB = ?
12
Area = ?
37.= 38.=
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»

(3.11x10° ¥ 4.13x10°f TR o M —— 39=

39. :
- (2.11x10°)
3127 7
40. [—}[——jl[—}(z,eso - 3,770) - -- 40=
4]21] 36
41, /6,110 — 4,930 + +/8,320 — 3,170 ------- --41=
42. ,/0.00407(902 - 863) 42=
Jr - 1.15  40.0343 |
2
4,330 + (}/ )
44, ,’,l —— et h - 44=
((/9,130) + 180)
45. ! — . - 45=
V3.44x107  49.23x107°
46. /(3. 44x10°)- 5110/ 820)(7,010 - 9,080) 46=
47. The edge of an equilateral triangle is 24 cm. What
is its area in square inches? 47= in”
48. What is the distance from (8,2) to (-3,5)? ---48=
49. RIGHT TRIANGLE 50. RIGHT TRIANGLE
Area = 525 2o

16.1
12..5

37.4




TMSCA 04-05 MSCA#16

(0.00124 + 0.0214 + 0.445)°

51

N1.71 + 7 + 82.1

55 | 174 (865 — 965)
“\z(821) 323 + 646

SR CECH]|

0 [1.58 4 B4 A = 92.3}2

54. —
9 | 45.2 <193 4+ 96.5

JWVIZ1 - 43.7 2

55 [1,580 + 240F

|- (-387-81.7)

5

(@)

741 ;
.m[7.24(8.81)2]

828(5.17)6,250) + L3f

> 3\/ (7.45)948)(7,650)

58, 3\/— (12.1){19.3Y72.3)

(211)5.13)42.6)

59. How many gallons will a sphere with a radius of 25

inches hold?

60. If the odds of winning are 6 to 4, what is the

probability of winning? ---
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56~

57=

58=

--59=__ gallons






